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Maximilian Conze and Michael Kramm1

The Recommendation Eff ect in the

Hotelling Game - 

A New Result for an Old Model

Abstract

Hotelling’s famous ‘Principle of Minimum Diff erentiation’ suggests that two fi rms 
engaging in spatial competition will decide to locate at the same place. Interpreting 
spatial competition as modeling product diff erentiation, fi rms will thus off er products 
that are not diff erentiated and equally share the market demand. We extend (a fi xed 
price version of) Hotelling’s model by introducing sequential consumer purchases and 
a second dimension of variation of the goods, quality. Consumers have diff erential 
information about the qualities of the goods and uninformed consumers observe 
the decision of their predecessors. With this extension a rationale for diff erentiating 
products emerges: Diff erentiation makes later consumers’ inference from earlier 
consumers’ purchases more informative, so that fi rms are confronted with two off setting 
eff ects. On the one hand, diff erentiating one’s product decreases the likelihood that it 
is bought in earlier periods, but on the other hand, by making inference more valuable, 
it increases the likelihood that later consumers buy the diff erentiated good. We show 
that the second eff ect, the recommendation eff ect, can dominate, leading to an 
equilibrium with diff erentiated products. Our model thus introduces an aspect similar 
to the herding literature in that consumers might base their decisions on observable 
actions of others and thus potentially on ‘wrong’ decisions.

JEL Classifi cation: L13, L15, D83

Keywords: Hotelling; herding; principle of minimum diff erentiation; consumer learning
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 ���� xt�
$�� x̃t �� ��� ��
������� ���� ���� ��� ����� xt ≤ x̃t ������ ��� �
����� �� �
	  �

�� ������
	�� �����	�
 �� ��
��� t ≥ 1 �� ����#�
��� 
������
 ��
 ���� xt �"�������
��
 %�!������& ������� ��
 ��� �
������ �� ���� �
	�� �
� ����� ��� ����
� '����
 ( �� ���

�
�� ���� ( ��� �����	�
� �
� ����#�
���� ���� ������� 
������
 ���� �
	� �
� �� ��� ��	�

�������� %a = b&� �� ���� ���� �� �� ����	�� ���� x̃t = b = (a+ b)/2� ���� ��� �����	�
 �����
���� ��  �� �������� ������  �� �
��������

)
 ( �� ��� ������ ���� ( 
��� b < a��� ��� %���"��& ����#�
��� �����	�
 �� ������� ��
(a, b)� �� ���� ���� x̃t �� �"��� �� ��� ���� �� ��� ����#�
��� �����	�
� 
���� 	����

u(A, x̃t) =EU(B, x̃t)

⇐⇒ v − p− τ(a− x̃t) =v − p− τ(x̃t − b)

⇐⇒ x̃t =
a+ b
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���
������ �� ��� ���� ����
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������� b > a ≥ 1

2
�  �� 
�� a ≥ 1
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�������� �� ����� �� a �� ����������� B 
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������ b < a� �
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�

 ��
���������	 �� �
� ��������� �����������+

����������� 	 ($��������)
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��� ���� ��� B �� ��� ������ �
�
��� ���� ���� ��

vb > va = v� 
���� ������ �

� �� ��

����

pb(C1) := Pr(vb > v|C1) =
Pr(C1|vb > v) · Pr(vb > v)

Pr(C1)

 � ��� ����

� ������ ��� �������� !��� ��
� ��� ���	�	�
����� �� C1 = A ��� C1 = B� ��
��� ����
��� �� t = 1 ����� �� 	� ��
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���� �����
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�� ���
������� �������� ����
���� ������ ��� B �� vb > v ��� A ���������� ����
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��� ���� � ����
��� ������� ����
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�
�
Pr(vb > va) = 0.5� &��� ��� ����������� �� ��� 
��������� ����
��� �� ������ t = 1�
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x̃1 =
a+ b

2
.
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����� '� �
�����%�� �� ���
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��� �� ������ ( �� ��������� ��� ������
 �������� �� ����� 	��

C1 =

{
B �� vb > v

A �
��

��� �� ��� �� �� 
��������� 	�

C1 =

{
B �� x1 ≤ x̃1

A �� x1 > x̃1.

)��	����� ����� �	���������� ���� ��� ���	�	�
��� q ���� ��� ����
��� �� ������ ( ��
��������� Pr(C1 = B) ��� Pr(C1 = B|vb > v) ��� 	� ��
�

���� ���

Pr(C1 = B) = q · Pr(vb > v) + (1− q)Pr(x1 ≤ x̃1) =
q

2
+ (1− q)x̃1

Pr(C1 = B|vb > v) = q + (1− q)Pr(x1 ≤ x̃1) = q + (1− q)x̃1
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pb(B) := Pr(vb > v|C1 = B) =
Pr(C1 = B|vb > v) · Pr(vb > v)

Pr(C1 = B)

=
(q + (1− q)x̃1) · 1

2
1
2q + (1− q)x̃1

=
q + (1− q) (a+b)

2

q + (1− q)(a+ b)
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� ���
����� C1 = A ��� �
 ��������
� ��������	
 ��� �� ���
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�	"

pb(A) = Pr(vb > v|C1 = A) =
(1− q)12(2− a− b)

q + (1− q)(2− a− b)
= 1− pb(B)

$� ��
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 pb(B) ≥ 0.5 ≥ pb(A)
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� �	 ��������
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� � ������

��� a� 
�� ��� $ �
 
�
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min b ���� x̃2(A) = 0 ⇔ b =
a+ b

2
+

δ

2τ
(2pb(A)− 1)

δq

τ
=(2− q)(a− b− (1− q)

(
a2 − b2

)
�	�

�
�

min b ���� x̃2(B) = 1 ⇔ a =
a+ b

2
+

δ

2τ
(2pb(B)− 1)

δq

τ
=q(a− b) + (1− q)

(
a2 − b2

)
���
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[0, 1]� !���� ����������� �������
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 �� �������� �� �� b1(a) �
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���� ���
�� �
 "#� ����
�� ���� ���$ ���
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 ����
� ����� D1
B� D

2a
B �
� D3

B �� ������
 D1
B�D
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B �
� D3
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� C1 = A� &�� B �������
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�
������
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��
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 b ��� ���� ��� ��

���
 b2(a) ����� �
���� ��� ����� ��
������ �� ��� ��� ������� ���� &�� B� !�$�
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 ����� �� ��� ����������
 ���� B#� ����
� *���� ���
���� �� b1(a)
�� �� ���� ���
� ��� ����� ���� �� ��
������ �� ��� ���� �� b �������� ���� ��������
 B#�

 ��� �� ��������
 ��� �
� �� &�� A� �� C1 = B�

+���
��
 �
 ��� ����� �� a� ��� ����������
� �
 ��� ����
��� ���� ���� ������ b2(a) <
b1(a)� b2(a) > b1(a) �� b1(a) = b2(a) ��� ������ ,�� a = ā ��
��� ��� �������
 �� &�� ��

���
 ��� ������ ����������� �����-��� %
 ��� ���� �� b2(a) < b1(a)� "#� .������# ����
� ��

����������-�� �� D2a
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� ������ ���� �
 .������ *���#� %
 ��� ���� �� b2(a) > b1(a)� "#�
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b2 b1 a = 0.5

1

b

DB(b)

��� ��� ��	�
��� ��
��� ����� a = 0.5 ���	������� ���
��
�

�������� ���
� �� 	��������

b1/2 = 0.4 ā = 0.6

1

b

DB(b)

��� ��� ��	�
��� ��
��� ����� a = ā = 0.6

b1 b2 a = 0.75

1

b

DB(b)

�
� ��� ��	�
��� ��
��� ����� a = 0.75 ���	������� ���
��
�

�������� ���
� �� ��� 	��������

������ �� 	
� ��
����� ������ �� � �������� �� ��� ������ �������� b� ��� ����� ��������
��������� �� �� �� ��� ���� 
���� b1 > b2 �� ���� 
��� � �� ������ �� �� �
���� ���
�
�������� ��������� �� ��� ����� 
���� ��� ��  ��
 �� ��� ������ 
����� !�� 
���������
"���� � �"
� � �#����$���� ���� ��������������� ����� �� �������%�� ���� $" ��� ������ �����
�����
������ q = 0.4, τ = 2, δ = 1�

��� �����	 
�	� 
�	���	�	 ��� ����������

&���� ��� ����� �� � ��������%����� �� ��� '���(
���� )�������� ����� ��� ������ �� *�������

��������������
 ���� ��� 
������� ������� �� �$������ ��� ������� 
�������� ���������������

!��� ��

��� ��� ����
��� ���� ��� ��������� ��� ����������� ���� q = 0� ����� ���" ���

���+�� ��%� ����� �������

�� ��� ��������� �� ����������� �� ���������� ����� ���� �#����$���� ���� ��� ������ !��

���(��������� �� *������� ��������������
 �#����$���� �� �������%�� $" ��� '��� ���������

�� ��� ��������� 
��
�������� ������� ���� '�� 	 
������ �� ������ �� b = b1(0.5) ������� ��

b = 0.5 ����� ���� � ������� �� ��� ���������

����������� 	
 ��

D2a
B (0.5, b1(0.5)) > D3

B(0.5, 0.5) ,-.

��� ������	
�� ���� ��� 
�������� ����� �� ��� �����
���� �� ���
�

�
���

������������
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�

�
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��� ��� a = b = ā ����
�

�
�� �� 
� ��� � ���� ��� ������ �� 
�����

�� ������������ �� ���� ��� 
��������� b1(0.5) > 0 ��� D2a
B (b1(ā), ā) > D3

B(ā, ā) �� �� �������� !��
���� ��� �� �� ��
���
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��
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D2a
B (0.5, b1(0.5)) > D3

B(ā, ā)

a = 0.5 b = b1(0.5) < 0.5

D2a
B (0.5, b1(0.5)) ≤ D3

B(ā, ā).

B
b a

B b b2(a) b1(a) a
a b = a

a
b = b1(a) < a a

b = a b = b1(a)
a

b = a b = b1(a)
a ∈ [0.5, 1] a = 0.5

Equilibrium of Type 1
Equilibrium of Type 2

δq
τ
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� ��� ���������	 ��������� �� ������������� �� ���

���
 ��	����� �� ���� ��� δ = 1 	�� τ = 2� ���
 δ
τ = 0.5 �� �	� �� ���� 
��� ������

�� �
	� 	� ����������� �
 ���� ! �� ���	���� 
�� �	���� �
 q 	�������	���� ����� 0.25 	��

	� ����������� �
 ���� � ������� �
 q �� �� �
� 	�������	�� ������	� �
 [0.25, 0.45]� ���
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#��� ���� $��� ! %&� '�(������	����) $��� � %'�(������	����)

q 0.2 0.4

#��� ���	����� a = ā = 0.55 a = 0.5

b = ā = 0.55 b = b1(0.5) = 0.32

DB(0.5, b1(0.5)) 1.25 1.02

DB(ā, ā) 1.07 1.10
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������

a = ā �� �� �	� ������ 	 ���� � ����������� �� ������� a = 0.5� *� �
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 0.32
%�-.�/)�

#��� ���� $��� ! %&� '�(������	����) $��� � %'�(������	����)

q 0.2 0.4

x̃1 0.55 0.41

Pr(C1 = B) 0.54 0.45

Pr(vb > v|C1 = B) 0.59 0.72

Pr(vb > v|C1 = A) 0.39 0.32

x̃2(A) 0 0.32

x̃2(B) 1 1

Pr(C2 = B) 0.53 0.57
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�� ������ �������

��� ���	 �� ��� ����

�� �� �����	 1� ��� 	�
��	 �� �
�� � ���
����� �� 	�������	 ��

D3
B(a, b) = q + (1− q)

[
x̃1 + Pr(C1 = B)

]
= q + (1− q)

[
(2− q)

(a+ b

2

)
+

q

2

]
�� ��� 	�
��	 �� ����  !� 	�
��	 �� ���� ���� �� ������� ��	 ���������� �� b�
"��������� �� ��� 	�#����� 	�
��	 ����� ����� ���� 
�	����� �� ��� �����	 �����	 ����

�

��� ��	 ��
� ��� �������� �� ��� ��	�#����� ����

�� ����� �� ��

����� �� �����  ! ��	

$! ��	 ���

����� ���� �� ����� %�! ��	 %�!� ���� �� ����� ����� 	��� ��� 	�
��	 	����	

�� ��� ����
����� δ ��	 τ �

��		� 
� ��������	 
�� ��
 
��� ������ ��� 
�	�����������	 �� ��	 
����
� ���� �� ��	�

��� 	������� �� [0, 1]� ���� ���	� 	�������	 b1(a) ��
 b2(a) ��	����������

&'
������ ( ! ��	 (%! ��� ����� ��

min b ���� x̃2(A) = 0 ⇔ b =
a+ b

2
+

δ

2τ
(2pb(A)− 1)

δq

τ
=(2− q)(a− b)− (1− q)

(
a2 − b2

)
( !

��	

min b ���� x̃2(B) = 1 ⇔ a =
a+ b

2
+

δ

2τ
(2pb(B)− 1)

δq

τ
=q(a− b) + (1− q)

(
a2 − b2

)
(%!
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b1(a) =

(2− q)−
√
(2− q)2 − 4(1− q)

[
(2− q)a− (1− q)a2 − δq

τ

]
2(1− q)

��� ���

b2(a) =

q −
√
q2 + 4(1− q)

[
(qa+ (1− q)a2 − δq

τ )
]

−2(1− q)

��� ����

� ��� �� ��	��	����� ����� ���� ���� 
�������������� ����� ��� a ���� ����

b1(a) ∈ [0, 1] ⇔ a ∈
⎡
⎣(2− q)−

√
(2− q)2 − 4(1− q) δqτ

2(1− q)
,
(2− q)−

√
(2− q)2 − 4(1− q) δq+τ

τ

2(1− q)

⎤
⎦

��


b2(a) ∈ [0, 1] ⇔ a ∈
⎡
⎣−q +

√
q2 + 4(1− q) δqτ

2(1− q)
,
−q +

√
q2 + 4(1− q) δq+τ

τ

2(1− q)

⎤
⎦

����� ��
∂b2(a)
∂a > 1 > ∂b1(a)

∂a > 0 ��� b ≤ a ��� a, b ∈ [0, 1]� �	�
���
��� b1(a) ��� b2(a)

����� ���� ���� �
 ā = 1
2(1 +

δq
τ ) ��� �� ����
��� a = 1− b� ����� ��� a < ā, b2(a) < b1(a)

��� ��� a > ā, b2(a) > b1(a)�

����������� ��� �� 
�����	
 ��	��	���
 ���� � ������� ��� ��
 ��� ��� ��� !��	���� "�������

������� ��#

∂b1
∂a

=
(2− q)− 2(1− q)a

(2− q)− 2(1− q)b1

��


∂b2
∂a

=
q + 2(1− q)a

q + 2(1− q)b2

��� �����
 ���� �� ��� 	���� �� �������
 �
 ����	
 � ��	�$��� � ������� ��� ��
 ���% �����

����� ��� ���
����� a = 1 − b� &	������ �� ��� �� ��� ��	��� �� b1(a) �� b2(a) ��� b 
��	
�

��� ���
����� �����
 �� ��� 	�����

�'
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� 	� �

 	��
����
[
a− δq

τ ,
1
2 − δq

2τ

]
�

����� � ������	 
��
 
�� ��	
�
�� a− b1(a) �	 �
����	�
� �
 a ��� ��� a ≤ ā� ��
��

a− b1(a) ≤ ā− b1(ā) = 2ā− 1

������ ��� �
� a ≤ ā ����	 � ����� ���
� �
 b1(a) �	

b1(a) := a− δq

τ

��
�� b1(a) �	 �
����	�
� �
 a� b1 := b1(ā) �	 �
 ����� ���
� �
 b1(a) ��� ��� a ≤ ā �
� 
��
����� ������	�

����� �� ��� �
���� �� �

 ���	��� �� ����� ��� ��� ��� D2a
B (a, b1(a)) ��� D3

B(a, a)
�
��
��	�
��� 	� 	���
��	�� 	� a� �
��� � �	�� 
	�

� �
� a 
���� �� �

 �����
�� a ���
 �
��

b = b1(a) �� �� �

 �����
�� a ���
 �
�� b = a�

�
 �	 ����� 
��
 ��	 ����
� �
����	�	 �
 a �� ��
� ���	 ����	� 
�� 	��� ����
��
� 	�
�� 
��


�� ���������
� 
��
 �
�
������ ��
	����	 ����	� � �	 ����
 �� a�
��� ��	 ����
� D2a

B (a, b1(a))� �� ��
 �������
� 
�� ������
��� ����
� a �	 ������	

∂D2a
B (a, b1(a))

∂a
=(1− q)

(
1 +

∂b1(a)

∂a

)[
4− q

4
+ (1− q)

1− a− b1(a)

2

]
 ��	 ������
��� �	 ��	�
��� ���
����

b1(a) ≤ 6− 3q

2− 2q
− a

����� �����	 ����	 ��� a ∈ [0, 1]�

����� �� b1(0.5) > 0 	�

1 > q

(
1

3
+

4

3

δ

τ

)

�
	�
 	���	
� �

 ����	�	�� ā = 1
2(1 +

δq
τ ) < 1

 �� ��	
���
��
 �
 
�� ����� �	 �����
�� ��
��
�� �� ������
� �
 a = 0.5 �

� 
�� �������
��� b1 ���� ����� !�

����� 	�  � ā ≤ 1 ��� b1(0.5) > 0� � ��!�	
�� ����	�	�� ��� �

 ���
 " 
��	�	#�	�� ��

�

 ������	�	�� �� 
$	�� 	� �	�
� #�

1 ≥ δq

τ

[
9− 3q +

δq

τ
(1− q)

]
.
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���� ��������
��	 ����

�� D2a
B (0.5, b1(0.5)) > D3

B(0.5, 0.5)

�� D3
B(ā, ā) < D2a

B (0.5, b1(0.5))

�� D2a
B (ā, b1(ā)) > D3

B(ā, ā)�

��� �������	 �����
� �	
����	��� 
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 ��� ������ 
���
���	 ��� ������	��� �� ��
� �����
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	� 
�� 	����� ����
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 ��� 
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�� 
�� 	����� ����
��� �	 ����� ��

D2a
B (0.5, b1(0.5)) > D3

B(ā, ā)

"	��� �������	 ��	��
	� 
��	 ����	 
� 
�� �����
��� 	
�
�� �� 
�� ������

����� �� �� ā ≤ 1 ��� b1(0.5) > 0� � �	
��
�� ��������� ��� ��
 ���
 � 
�	������	� ��

��
 ����������� �� 
���� �� ���
� ��

δq

τ

[
δq

τ
(1− q) + 5− q

]
≤ 1 ≤ δq

2τ

[
δq

2τ
(1− q) + 14− 5q

]
.

��� ����� �	 
��� �
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�������� 
���� ��������
��	 ����

�� D2a
B (0.5, b1(0.5)) > D3

B(0.5, 0.5)

�� D3
B(ā, ā) ≥ D2a

B (0.5, b1(0.5))

�� D2a
B (ā, b1(ā)) > D3

B(ā, ā)�

#�!����
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���	 
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�� ��	
 
�� ��������
��	 ��� ����� ��

�� D2a
B (0.5, b1(0.5)) ≥ D3

B(0.5, 0.5)

�� D3
B(ā, ā) ≥ D2a

B (0.5, b1(0.5))�
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�
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������

$�
������
��� 
�� 
���� ��������
� �	��� b1(ā) = 1− ā �����	

δq

τ
(5− 2q) < 1.
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��+���
�

����� ��� ������� �
 ������
 �
� )���� �
� �����
� �
� �
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������ x̃I(A) � ������� / �� �������� �
� x̃I(B) � vb > v� �
�� ��
 ������ �� ����������
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x̃1 − δ

2τ

�� ��� � �� ��� �	
����� 
��
	��� ��


x̃1 +
δ

2τ

�� ��� ���� ���� ��� 
��
	�� �� �� ������ �	������

�� ��� 
������� �� ���� ���� ��� �������� ���	����� ��� ��� ��� ��
������� ��
�� ��� ����

���������� 
��������
 ���	�
 ��� ������� �� ��� ��� ���� ���������� ����� �� x̃1�  �	�
x̃1− δ

2τ ≤ b 
������� ��
���� x̃1+
δ
2τ ≥ a ��
 ���� ������ �� �	�� � ���� ��� ����	���� 
�����

���
 � ��
 � ���
��������� ��
 �� ������ x̃I �� ��� �� 0 ��
 1 ���
���������
!����� ����	����
 ��� ��
������� ��
�� �� �������
 ����	����� ��� 
����
 �����	� ���

�	�
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DB(a, b) = q(x̃I(A) + x̃I(B)) + (1− q)
[
x̃1 + Pr(C1 = B)x̃2(B) + Pr(C1 = A)x̃2(A)

]
#����	���� ��� 
����
 �� ��� ���� �� ������ �������� x̃I(A) + x̃I(B) = 1�  �� ��	����
������� �� ���� ��� ��
�������� ��
� ��� �������
 ����	���� �� ������ ������
 �	����� �
���

���� x̃1 ���� ��� ��� �� ��� 	��������
 ����	����� ������� ���� x̃2(A) ≥ x̃I(A) ��

x̃2(B) ≤ x̃I(B)�  �� 
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 �� ������ x̃2(A) = 0 ��
 x̃2(B) = 1 �� ����� �� ����� 
����� ���
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 �� ��������� ��� ������
 �� 
��

��� ���	�
���� "�

 �� 
����
 ���� 
����� ���� x̃I(A) + x̃I(B) 	= 1� &�� � �'�
 a� x̃I �� �� ��� ��������
(b, a) ��� ���������� ����� ���	�� �� b (�� �� ���) &�� ������ ���	�� �� b� ����� x̃I(A) ��

x̃I(B)� ������ �� %��� ��
 ��� ���
��������� *��

��� ��� ���	�
���� ���	� ��� ��������
�� �������
 ����	���� ��	� �����
	��� ������� 
��� ��� ��� 
����
 �	������ ����� ���	��

�������� a ��
 b ��� ���������� ��� �
���� +��� ���� ,���� 
��� D0
B(a, b)� *��

��� ���

���	�
���� �� 	�
���������� �� b ���� ����� ������ b �	�� ���� ���� 
��� �� ��� 
����
 ��
��� �������� ����

-��� ��� ���	����� ���� ������ �� .��� ���� x̃I(A) > 0 ��
 x̃I(B) < 1 ��
�� x̃2(A), x̃2(B) ∈
(b, a)� -��� ��� ��
������� ��
�� ����� �� �������� ������� ���� ��� ������������� �
���

���	�
 x̃1 ��
 D0

B(a, b) ���
����� ��/

D0
B(a, b) = q(x̃I(A) + x̃I(B)) + (1− q)

[
x̃1 + Pr(C1 = B)x̃2(B) + Pr(C1 = A)x̃2(A)

]
= q(2x̃1) + (1− q)(2x̃1) = 2x̃1 = a+ b

D0
B(a, b) �� ������� ���������� �� a ��
 b�

$$
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b0(a) = max
b

���� x̃I(B) ≤ a

b0(a) = a− δ

τ

�����
� �� 	
������ b = b0(a)� � 	���� 
��� ��	
�� ����	��� ���� �� �� � ���� ������ b = b0(a)
�� b = a ��

D0
B(a, b0(a)) ≥ D3

B(a, a)

a+ b0(a) ≥ q + (1− q)
[
(2− q)a+

q

2

]
a ≥ ā0 :=

1

2
+

δ

τ(3q − q2)

���� �

�

ā0 =
1

2
+

δ

τ(3q − q2)
≥ ā =

1

2
+

δq

2τ

��� 
�� q ∈ [0, 1]�
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� ���� � 	���� 
��
�� ��
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 ���
�� �� 2 − D3

B(ā, ā) �� ������ �� �������
a = ā� �� 
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B(ā0, b0(ā0)) ≥ D3

B(ā0, ā0)

"��	� D3
B(a, a) �� ��	��
���� �� a 
�� ā0#ā!

D0
B(ā0, b0(ā0)) ≥ D3

B(ā0, ā0) ≥ D3
B(ā, ā)
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